POGZ
PSMB4 F‘
C

a
_a
&
fin
i
s
0 X
=3
fuid
2
N n
B ER
o <
et i
95552 4
S356=2220 a
FofO=S
s
>3
~Z0
=7
@ O3
g Brgs o
° o
e =]
S2SSvvnnz<onnns=Zad
Z  OSSeZ XS
= mCBCCCCAMCCCCMMAC$M
° 88
bl <
g, b
2 b
P
I
n
=
: o
H
_a o
2 o
I«
(X% I
3z o
e
Ui,
&
kmmafln_
D555
570S0=0
<o
g2
< - =
sll
g2
WHDJD
s =
S0%3.<p
<P
5527
SO352
o AE
S
[N = )
z
<y
o
I
4
i
=]
o z
2 -
2
> 5
3
<
T
T
2, 0.
528
ERUS O —.
OE5>322
(2 2 —

R
NNNTTROIINIOL N~
DN ESSAISe0Rs |
T OO AN T T

= e
LET NI ITTaa
I DT

=88
pie
7

I

LOC103091866 ]

> T S

IR K]

00 pibage o,

10

(enrean-d)othol-

1515

151.0

150.5

150.0

chr 1 physical position (MB)



